| STUDENT > restart;
[ STUDENT > # Let M = L2 - L1
[ STUDENT > eql:=R™"2 = (Cx -(L1x + Mx*t))"2 +R"2 + (Cy -(L1ly +

My*t))"2 +(Cz -(L1z + Mz*E))™2 ;
I eql :=R?=(Cx— L1x - Mx t)*+ R*+ (Cy — L1y — My t)* + (Cz — L1z — Mz t)?
[ STUDENT > soln:=solve(eql,t);

1

smn:EQQLixMx—ZUyMy+2CxMx+2CyMy+2CzMz—2U1Mz+2(

-2 L1y My Cx Mx — Mz* Cx* — Mz Cy2 — M7 L1x* - MZ? L1y2 — Mx? L17% — Mx? Cy2 — Mx? CZ?

— Mx® L1y® — My® L12% — My Cx? — My? L1x* — My? Cz* — 2 L1y My Cz Mz + 2 L1y My L1z Mz

+2CXxMxCyMy+2CxMxCzMz—-2CxMxL1zMz+2Cy My CzMz-2Cy My L1z Mz

+2 Mz? Cx L1x + 2 MZ? CyLly+?2 Mx? CyLly+2 Mx® Cz L1z + 2 My2 CxLlx+2 My2 Cz L1z

1/2
+2LIXx Mx L1y My — 2 LIx Mx Cy My — 2 L1x Mx Cz Mz + 2 L1x Mx L1z Mz) )/(
1
MzZ+Mx2+My2),E(—2L1xMx—2L1yMy+2CxMx+2CyMy+2CzMz—2leMz—2(

—2 L1y My Cx Mx — Mz% Cx? — Mz% Cy? — Mz? L1x* — Mz% L1y? — Mx? L12° — Mx® Cy? — Mx* CZ°

— Mx® L1y® — My? L1Z% — My Cx? — My? L1x* — My? Cz* — 2 L1y My Cz Mz + 2 L1y My L1z Mz

+2CxMxCyMy+2CxMxCzMz—-2CxMxL1zMz+2 Cy My Cz Mz -2 Cy My L1z Mz

+2 Mz Cx L1x + 2 MZz* Cy L1y + 2 Mx? Cy L1y + 2 Mx? Cz L1z + 2 My® Cx L1x + 2 My® Cz L1z

+ 2 LIxMx L1y My — 2 L1x Mx Cy My — 2 LIx Mx Cz Mz + 2 L1x Mx L1z Mz)l/z) /(

L Mz% + Mx® + Myz)

[ STUDENT > simplify(soln[1]);

(—L1x Mx — L1y My + Cx Mx + Cy My + Cz Mz — L1z Mz + (=2 L1y My Cx Mx — Mz* Cx?
— MZ® Cy? — Mz® L1x* — MZ? L1y? — Mx? L17% — Mx® Cy? — Mx? CZ° — Mx? L1y — My? L17
— My? Cx% = My? L1x* — My? Cz* — 2 L1y My Cz Mz + 2 L1y My L1z Mz + 2 Cx Mx Cy My
+2CxMxCzMz-2CxMxL1zMz+2Cy My CzMz -2 Cy My L1z Mz + 2 Mz* Cx L1x
+2 MZ? CyLly+2 Mx? CyLly+2 Mx? Cz L1z + 2 My2 CxL1x+2 My2 Cz L1z

+2LIXMx L1y My — 2 LIXx Mx Cy My — 2 L1x Mx Cz Mz + 2 L1x Mx L1z Mz)l/z) /(

L Mz? + Mx? + Myz)

[ STUDENT > simplify(soln[2]);

— (L1x Mx + L1y My — Cx Mx — Cy My — Cz Mz + L1z Mz + (-2 L1y My Cx Mx — Mz® Cx?
— MZz? Cy? — Mz L1x? — MZz% L1y? — Mx? L12% — Mx? Cy? — Mx® CZz° — Mx? L1y? — My? L17°
— My2 Cx? — My2 L1x* — My2 C*-2 Lly My Cz Mz +2 L1y My L1z Mz + 2 Cx Mx Cy My

+2CxMxCzMz—-2CxMxL1zMz+2Cy My CzMz -2 Cy My L1z Mz + 2 Mz? Cx L1x
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+2 Mz CylLly+2 Mx° CylLly+2 Mx? Cz L1z + 2 My2 CxLlx+2 My2 Cz L1z

1/2
+2L1Ix Mx L1y My — 2 L1x Mx Cy My — 2 L1x Mx Cz Mz + 2 L1x Mx L1z Mz) )/(
Mz? + Mx? + Myz)
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